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QUESTION 1

Which three are valid statements about Locations In Data Management? 

A. A location can be assigned to more than one data load rules. 

B. A location can be assigned to more than one Import format. 

C. You can create duplicate locations with the same source system and application combination. 

D. Different locations can use the same import format. 

E. A location may have more than one source system. 

Correct Answer: ACD 

 

QUESTION 2

Which statement Is FALSE about Dimension Management In Profitability and Cost Management? 

A. You can manually edit Business, Attribute, and Point of View dimensions. 

B. System dimensions ore not displayed In Dimension Management. 

C. Profitability and Cost Management uses dimensions and members created In Oracle Essbase. 

D. Dimensions are imported using flat files or the Data Management feature. 

Correct Answer: C 

 

QUESTION 3

Which two statements are true about model validation? 

A. You cannot deploy the application if model validation returns Invalid conditions. 

B. Model validation validates rules, rule sets, and dimensions. 

C. Running a model validation displays an error table with Information about Invalid conditions. 

D. After the application is deployed, it can detect invalid model artifacts if changes are made to dimensions. 

Correct Answer: BC 

 

QUESTION 4

Assume the computer hardware supports parallel calculation. Given these two rule sets, in what order will the rules be
calculated? 
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A. Rule 1, Rule A, and Rule 5 will run In parallel; then Rule 2, Rule, 3, and Rule 6 will run in parallel (two separate
calculation steps). 

B. Rule 1; then Rule 2 and Rule 3 will run in parallel; then Rule 4 and Rule 5 will run in parallel; then Rule 6 (four
separate calculation steps). 

C. Rule 1, Rule A, and Rule 5 will run in parallel while Rule 2, Rule 3, and Rule 6 also run in parallel (one calculation
step). 

D. Rule 1; then Rule 4 and Rule 5 will run in parallel; then Rule 2 and Rule 3 will run in parallel; then Rule 6 (four
separate calculation steps). 

Correct Answer: B 

 

 

QUESTION 5

Which Is a valid set with report objects, when designing reports in Financial Reporting Web Studio? 

A. Tables, Charts, Text, KPIs 

B. Grids, Charts, Profit Curves, Text 

C. Text, Charts, Grids, Images 

D. Charts, KPIs, Profit Curves. Tables 

Correct Answer: C 
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